
Installation/Installation

A

A

How to install heavy duty shelf bracket / Comment installer un support de tablette robuste

16 in
40,64 cm

1 2

4

3-1

3-3

3-2

Fasteners (sold separately):
Fixations (vendues séparément) :

BB P/H Screw, #8 x1/2", 2 PCS
Vis Pet H, no 8 x 1/2 po, 2 PIÈCES

Sleeve Anchor, 1/4", 3PCS
Vis Pet H, no 1/4 po, 3 PIÈCESAA

CC Anchor, M8 x 45 mm, 3PCS
Cheville d’ancrage, M8 x 45 mm, 3 PIÈCES

DD P/H Screw, #12 x 2", 3 PCS
Vis Pet H, no 12 x 2 po, 3 PIÈCES

AA

BB

For Concrete Wall (IF loading >1000 lbs)

For drywall or wood

For Concrete Wall (loading <1000 lbs)

CC

DD

BB

Recommend screw driver in 4.8-in length for easy installation.

4.8 in
120 mm

10°

Recommend screw driver in 4.8-in length for easy installation.

4.8 in
120 mm

10°

DD

Stud


